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Introduction
In this contribution, we provide a summary for the discussion on the default pathloss reference signal for SRS and PUCCH. 
Discussion
TP for default pathloss RS for PUCCH for 38.213
	[bookmark: _Toc12021448][bookmark: _Toc20311560][bookmark: _Toc26719385][bookmark: _Toc29894816][bookmark: _Toc29899115][bookmark: _Toc29899533][bookmark: _Toc29917270][bookmark: _Toc36498144][bookmark: _Toc45699170][bookmark: _Toc114234325]7.2.1	UE behaviour
<omitted text>
-	[image: ]is a downlink pathloss estimate in dB calculated by the UE using RS resource index [image: ] as described in clause 7.1.1 for the active DL BWP [image: ] of carrier [image: ] of the primary cell [image: ] as described in clause 12
-	If the UE is not provided pathlossReferenceRSs and enableDefaultBeamPL-ForPUCCH, or before the UE is provided dedicated higher layer parameters, the UE calculates [image: ] using a RS resource obtained from an SS/PBCH block with same SS/PBCH block index as the one the UE uses to obtain MIB
<omitted text>




Companies’ view
	Company
	Comment

	vivo
	If it means the UE is provided neither pathlossReferenceRSs nor enableDefaultBeamPL-ForPUCCH, should the sentence be “If the UE is not provided pathlossReferenceRSs or and enableDefaultBeamPL-ForPUCCH”?

	OPPO
	We are fine with the CR. 

	Google
	To answer vivo’s question, this wording is the same as PUSCH, where we use “and” instead of “or” to clarify the condition is that both parameters are not configured. If we use the word “or”, the condition turns to be one of the parameters is not configured.

	Nokia, Nokia Shanghai Bell
	We are fine with this CR. For vivo’s comment, the statement ‘or’ could mean one of them is provided, whereas it is clear both shall not be provided.

	ZTE
	We are okay for the CR

	
	




TP for default pathloss RS for SRS for 38.213
	[bookmark: _Ref500079796][bookmark: _Toc12021450][bookmark: _Toc20311562][bookmark: _Toc26719387][bookmark: _Toc29894818][bookmark: _Toc29899117][bookmark: _Toc29899535][bookmark: _Toc29917272][bookmark: _Toc36498146][bookmark: _Toc45699172][bookmark: _Toc137056366]7.3.1	UE behaviour
<omitted text>
-	 is a downlink pathloss estimate in dB calculated by the UE using RS resource index  as described in clause 7.1.1 for the active DL BWP of serving cell  and SRS resource set  [6, TS 38.214]. The RS resource index  is provided by pathlossReferenceRS associated with the SRS resource set  and is either an ssb-Index providing a SS/PBCH block index or a csi-RS-Index providing a CSI-RS resource index. If the UE is provided enablePL-RS-UpdateForPUSCH-SRS, a MAC CE [11, TS 38.321] can provide by SRS-PathlossReferenceRS-Id a corresponding RS resource index  for aperiodic or semi-persistent SRS resource set 
-	If the UE is not provided pathlossReferenceRS or SRS-PathlossReferenceRS-Id and if the UE is not provided enableDefaultBeamPL-ForSRS, or before the UE is provided dedicated higher layer parameters, the UE calculates  using a RS resource obtained from an SS/PBCH block with same SS/PBCH block index as the one the UE uses to obtain MIB
<omitted text>




Companies’ view
	Company
	Comment

	OPPO
	We are fine with the CR. 

	Nokia, Nokia Shanghai Bell
	We are fine with the CR

	ZTE
	We are okay for the CR
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